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1 100kN/ %82 % — -~ = —|3mZEEZB| — ~ — — — | 100kN/MZE#BZ % — - ~ — — |3mEBZS -~ — - -
ThLlst 1.00 | 0.00 ~ 671 84.71 | #nbist 000 ~ 671|276 14.79 ZhnLs 1.00 | 5.00 ~ 1257 84.71 | RS | 5.00 ~ 1257|276 14.79
2 100kN/m%i#82% | 1.00 | 0.00 ~ 081 112.04 |3mZE#Z2H| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1258 ~ 1538 112.04 |3m%E#BZ5 - ~ — — —
zh s 100|081 ~ 859| 100.00 | ZnLst | 000 ~ 859| 2.75 14.70 Fh st 1.00 | 6.00 ~ 1258 100.00 | ThUs | 6,00 ~ 1538| 2.75 14.70
3 100kN/m%#8Z% | 1.00 | 0.00 ~ 081 112.04 (3mZE#BzB| — ~ — — — | 100kN/m%Z#BZ5 | 1.00 | 12568 ~ 1538 11204 |3mE#BZ% -~ - - —
znst 1.00 | 0.81 ~ 859 100.00 | =0 | 000 ~ 859 | 2.53 13.63 zHnLst 1.00 | 5.00 ~ 1258 100.00 | RS | 5.00 ~ 1538| 2.63 13.563
4 100kN/m%i#82% | 1.00 | 0.00 ~ 1.15 117.41 |3mZE#Z2H| — ~ — — — | 100kN/M%E#BZ 5 | 1.00 | 13.73 ~ 1861 117,41 |3mZE#BZ5% - ~ — — —
zh s 100|115 ~ 894| 100.00 | ZnLls | 0.o0 ~ 894 2.61 13.98 Fh st 1.00| 600 ~ 1373 100.00 | ThsS | 5,00 ~ 1861 | 2.61 13.98
5 100kN/m%Z#BZ25| 1.00 | 0.00 ~ 1.88| 12895 |3mEBZ3| — ~ — — — | 100kN/m%ZE#BZ5 | 1.00 | 1080 ~ 1746 | 128.95 |3mE#BZ% -~ - - —
znst 1.00 | 1.88 ~ 967 100.00 | =0 | 000 ~ 967 | 2.31 12.35 znLst 1.00 | 5.00 ~ 10.80 100.00 | #hs | .00 ~ 1746 | 2.31 12.35
6 100kN/m%#82% | 1.00 | 0.00 ~ 1.70 126.10 |3mE#ZH| — ~ — — — | 100kN/MZ#BZ 5 | 1.00 | 1204 ~ 1864 126.10 |3mEBZ 5% - ~ — — —
zhsn 1.00| 170 ~ 949| 100.00 | FnLs | 0.00 ~ 949 2.01 10.76 zhLs 1.00 | 6.00 ~ 1204 100.00 | ThS | 5,00 ~ 1864 | 2.01 10.76
7 100kN/mM%#8Z% | 1.00 | 0.00 ~ 091 113.66 |3mZx#Bz5| — ~ — — — | 100kN/m%ZE#BZ5 | 1.00 | 11.77 ~ 1472 | 113.66 |3mE#BZ3% -~ - - —
znst 1.00 | 091 ~ 870 100.00 | =0 | 000 ~ 870 1.99 10.63 znLst 1.00 | 5.00 ~ 1177 100.00 | FhLSY | 5.00 ~ 1472 | 1.99 10.63
8 100kN/m%#82% | 1.00 | 0.00 ~ 091 113.66 |3m&x#Z2H| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 11.77 ~ 1472 113.66 |3mZE#BZ5D - ~ — — —
zh s 100|091 ~ 870| 100.00 | ZhLlst | 000 ~ 870\ 2.45 1512 zhs 1.00 | 6.00 ~ 1177 100.00 | ThsS | 6,00 ~ 1472 | 2.45 13.12
9 100kN/mMZ#8%% | 1.00 | 0.00 ~ 1.00 114.96 (3mZE#BzZB| — ~ — — — | 100kN/m%ZE#BZ5 | 1.00 | 1084 ~ 1426 114.96 |3mE#BZ% -~ - - —
ThLst 1.00 | 100 ~ 878 100.00 | #hst | 000 ~ 878|207 11.09 ZhnLs 1.00 | 500 ~ 1084 100.00 | =nSY | 6,00 ~ 1426 2.07 11.09
10 100kN/m%i#82% | 1.00 | 0.00 ~ 149 122.68 |3mE#ZDH| — ~ — — — | 100kN/MZ#BZ 5 | 1.00 | 1063 ~ 1554 12268 |3mEBZ 5 - ~ — — —
zhsn 1.00 | 149 ~ 927| 100.00 | Zhs | 000 ~ 927| 2.36 12.65 Fh st 1.00 | 6.00 ~ 1053 100.00 | ThUsS | 6,00 ~ 1554 | 2.36 12.65
11 100kN/m%Z#BZ25| 1.00 | 0.00 ~ 1.28| 119.30 |3mE#BZ3| — ~ — — — | 100kN/m%Z#BZ5 | 1.00 | 1060 ~ 1487 | 119.30 |3mE#BZ3% -~ - - —
ThLst 1.00 | 1.28 ~ 9.06 100.00 | #hst | 0.00 ~ 9.06| 213 11.41 ZhnLs 1.00 | 5.00 ~ 1060 100.00 | ThLS | 5,00 ~ 1487| 2.13 11.41
100kN/MZ#2Z. % ~ ImEBZD ~ 100kN/m%# 2z % ~ ImEHEZD ~
zh s ~ Zh st ~ Zh st ~ zhsn ~
100kN/ %82 % ~ ImEBZD ~ 100kN/m%# 2z % ~ ImEEZD ~
Zhs ~ Zh st ~ Zh st ~ Zhs ~
100kN/MZ#2 X% ~ ImEBZD ~ 100kN/m%# 2z % ~ ImEHEZD ~
zhsn ~ Zh st ~ Fh st ~ zhsn ~
100kN/ %82 % ~ ImEBZD ~ 100kN/m%# 2z % ~ ImEBZD ~
Zhs ~ Zh st ~ Zh st ~ Zhs ~
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